glafli Sfalwso affinyanias sopardisea Esia 2019
THULIR SCIENTIFIC AWARENESS TALENT TEST 2019

I. aymavsar Lifluflsir siphdl Gaumin
LommassmaD, ooyl
jipeat s (Rt GluiireeR
#s0li  GamammialSTai
TOUGRIETSS Sl

ii. dl [isdorsngySifleanard  Glemsia
urso{mTEaoeT  (pamsmLS
anoant (1L g & me .

. ueil ity aflens whmes Bluds
sl lmemards & sunrLi ST

v, oG sEmeo  aynmlEduda
Lymenmamear (flasll T
Syl (@l

1. v gdlsa [mlin Eumm
sl shiraullaEmer Gm;umML el seflay

Bl Quipamm eursar Guwrrssma
ruflemaliuism ?

A) aprds (Bl 6, SnEITENIpElT, Emisus)
Lmisilerr,  Gopamdaiy  afhdirbLmn

B) aetleblGwr, gunllsy ursll, @ed
L ar, Gmadan oSy Gumsio

C) apruilsy LmsoL T, emisesiy Lmisilr,
wmad Byl e, Goadd shdrEumso

D) meTepsr, Sty Lnfaller, med
;ﬂwll_ﬁi:r, et &1 1) [@lmunstr

2. 20006 26 & 30% & 25%

ETELIRIATRY T
A) 36 B) 40
C) 56 D) 60

3. #dlay saumstr silssmGleuafl smiowid
SO SETAT ([,
A) E\malsThSLmn
C) ufanflGam Lr

B) Glukisesss
D) uwGsnsSirdif

| Standard 9,10 |

I He said the lides were caused by
the sloshing back and forth of
water inthe seas as g paint on
the Earth's surface speeded up
and slowed down because of the
Earlh's rotation on itz axis and
revalution around the Sun
ii. He introduced the method to - protect
harmiul microbes Ina way called
Pastlaurlzation
iii. He described universal
gravitation and three laws of motion
Iv, In microwave research was that
he reduced the waves to the
millimetre leve| (aboul 5 mm
wavelanath)
1. Find and name the scientist who are
mentionad in the above siatements in the
order
A) Isgac Newton , Einstein, Charles
Darwin, Jagadish Chandra Bose

B} Galilea, Louis Pasteur, lsaac Newton |
Jagadish Chandra Bose

C) Louis Pasteur, Charles Darwin, Isase
Newton, Jagadish Chandra Bose

D) Einstein, Charles Darwin, lsaac
Mewton, Sir.C.V.Eaman

2. What is the 25% of 30% of 2/5th of 2000

A) 36 B) 40

C) 56 Dy 60

3 Satish Dhawan space centre is located
al..

A) Thiruvanandhapuram B) Bangalore
C) Sriharikota D) Mahendragiri
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4. @ik surerflems  guin) eSSl
Semeuanin @i 1o
A) B, Qsosh)

C) Glerstranssr

B) Glamaklamsgsm
D) yGsar

5. yalil Slemb Clamsserm.oGEmisE. ..

A) e 22
C) umrd 22

B) wmis 8
D) w8t 5

6. wafls i o musd GeiwioiEin
anifleyemntlsy  Glugsoumser s g

A) amiusr o SenmE

B) wyfhwrr

C) A wpmnis B

D) Gumnediu @hresGin @ksms

7. oydls oumd o arer [ rsaf
diraudeflan  Glandhflme.....

A) gdleid@n

B) @

C) &l undill GEse

D) sflefidgg Aer @mpuwb.

B, sumny GEmewnes @iyt wipin e
A) geilursd B) usmsionss)

C) angal {Higms D) anginiii e

9. @ihs eflggesraitlsr Wi Gl
saerpiilipin] s 7

A) eoadlsr  wamsuaT

B) afwmpmflsr 4 g Gamamaam
C) Glememeummaehl

D) Gluedr(Bleos g

10. @ Hleonaied
A) sylusGar 11
C) susonmi Giweur

weer LpOOLD  @Imuelsirm
B) Gamysiv T-1
0) gyreomi =2

1. E=mc®  erabin SsTUN ig68T £
S(LPETET GGl 2 (HAUTET S

A) emhiiugd  sdéEmin

B) symmigemn(

C) spaflufler Gaustd

D) moer @i

4, The Headquarter of Meteorological
Department of India is located at

A) New Delhi B) Kolkata

C) Chennai DY Pune

5. Earth day is celebrated on
A) April 22 8) March 8
C) March 22 Dy June 5

6. The Major waste produced by human

A) Carbondioxide

B) Urea

C) Both Aand B

D) None of the above

7. At High altitudes the boiling point of

A) Increase

B) Decrease

C) Remain the same

D) Increase and then decrease..

8. The directly conversion of gas o liquid
is called as ...
A) Evaporation
C) Distillation

B) Sublimation
D} Condensation

8. What is the greatest Discovery of this
Scientist?

A} Mountains of moon

B) 4 massive moons of Jupiter

C) Telescope

D) Pendulum clock

10. He landed on the moon by .....
A) Apolle 11 B) Soyuz T-1
C) Lunar Rover 0) Lunar -2

11. E= mc?® equation is reason from the
following one ..... ...

A) Relativity theory

B) Atom bomb.

C) Speed of light

D) Modern Physics
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12, L &Hls0 2 eman versfl  womssaraiiufsm
g 15, Glarm sraokmo wrhn S
srehlmant  |ELsulpdemes  er(Bidosd  Glomsied]
sronfl_str A (5 LnTrelGlnsin et s Gen
sraimy Geflafisdnmr. (o Gl
a1l ¢

A) Ghoflerm s

B) Guéesy smiesim

C) dsopfr gt

D) @bl L sl

ik

13, v mdlsh @ GTATS| ETETENT LS EILITEET
iyl elranamni.

Al ugd Efu Ersemmnb

B) wpu evfiu Slrssmn,

C) ausmsmu &if Hrssamm

D) srmimblesmmen

14, fEaur w7

A) Eisgumells apmed Gueds gy Sl
sraflsdifl uml yGa

B) gpas) wmsamui  spanhs Comof

C) gposd supasslesr smmbipeilior Gammle)

D) allgrgpmaof] aysdorssmr  anf)

*Awake, arise
and educate.

Smash traditions
- Liberate.”

15. . fhflsd Elemiing) svasrem 7

o grEer @imdEn yareflssr (@i,
A) iflusmin  symesr o arGer @i
LisraflesEmin

B) andirmen, ambr UstaflmEso

C) aflumpsnid =S L06mASETHD

D) Gumee iy e gapblsme

12.This school gifl shown in the image age
of 15, protested outside the Swedish
Parliament to take Action for Climate
Change What is her name 7

A) Marina Silva

B) Rachel Carson.

C) Sylvia Earle.

D) Greta Thunberg

13. What type of solar eclipse in the picture
A) Partial Solar eclipse

8) Total Solar Eclipse

C) Annular Solar Eclipse

D} Mone of these

14, Who is she 7

A) First female teacher in India. Savithribai
pule,

B) First docter Anandbai Joshi

C) First lawyer Cornelia Sobraji

D) Sclentist Anna mani

*Awake, arise
and educate.
Smash traditions
- Liberate.”

15. What is in the picture. The dots inside
the represents.....

A) sun and its sunspots

B) moon and its spots

C) Jupiter and it mountains
D) none of the above




;[ P— wmisllsir  sHkames | RO is called as father of Genetics.

f"ﬂ“"ﬁ' sravTL LI A) charles Darwin  B) Linnaeus
% A) emissn Lmiaflsr B)  eblarGeonus C) Robert Hoch D) Gregor Mendel
C) i am S D) &fCmmilhosmm

THNSF

il bt st F

17. @t wmi, @arg men@uiety aaem?  17. Who is he 7 what Is his discovery?

A) med Bl & oy alime A) Issac Newton & gravity

B] ga:ﬁ ‘rﬂgu_m & mﬂquDu_m BEmmar B} Issac Newlon &Jlf[fit&l’

C) Camuiflésdy & aursrafiusd C) Copernicus & Astronomy

D) G s pfsama D) None of these

18, il WEST G meellemSeSEHL fT 18 Where do people live in communal
murLpehlmmTaseT T harmony?

A) usmseny ErE  B) gey miG A)Rich Country B) Poor Country
C) ugfemiy mr D) wasdsamumm ek C) Religious Country D) Secular Country
19. wmi GBS Elubms aEnTsmaT 19. Who better Protect aur natural
FmliLire LaTgamiimTaar? Resources?

A) ssminEetaEs B) fdhidlesan A)Ministers B) Judges

C) o amempi whsmsr D)  asmudgann C) Local People D) Palice

20. smiGumspan’ Gn_ Reer, LETm e 20. The complete digestion of

mpis  Glamgll] sy fiimal (gaLsIoTS carbohydrates, proteins and fats occur in
efiipenofléaas LG @1 A) Stromach B) Liver

A) el B) esabiren C) Small intestine D) Large intestine
C) Hmus s D) Glugmhig

21.90 F”ﬂm’ﬂ W Sl 9‘5'“' fBlSL1p 21. How many times in a day do the minute
CRENA LU, GO St e and hour hands of a clock overlape 7
gemier gl Gemy QuTGESSNsI? A24 B20 C21 D22

Al 24 B) 20 )21 D) 22 ) ) ) )

22. The radius of a cart wheel |s 35 cm.
How many revelution does it make in
travelling a distance of 154 m?

22.m sy sEsTEHSer  gymn 35
Glelf. Elks sdamd 154 W Lwenflse

GLITE] FHSME FHEMer &onl sl

S maEH? A70 BJ89  C119  D.86
A)70 B) 189  C) 119 D) 86

23.  217X217+183X183 = 23, 217X217+185X183 =

A) 79698 B) 80578 A79698  B.80578

C) 80698 D) 81268 C.B0698  D.31268



24. eup oredoremafled epsinyfilst sagy Lk, 24, One third of , one half of , one fithof a

Lnufed, gl G Lk 15 sETHT number is 15, Find the number.
oy 6TE0A  eTamrET Y
A) 450 B) 45  C) 540 D) 400 A450 B.45 C.540 D.400

25, gemagd whemmapn @ 1250 @ 2:3 . .
srsirmeEIé;l 586 NG Cenadmmissr. 25, Asha and Mano divide Rs. 1,250 in the

meu@ammanflar Ufig  (pemmEi ratio 2:3. The share of each is respectively
A) Rs.500, Rs.750 A) Rs.500 ,Rs.750

B) Rs.550, Rs.700 B).Rs.550, Rs.700

C) Rs.750, Rs.500 C) Rs.750, Rs.500

D) Rs.700, Rs.550 D) Rs.700, Rs.550

26. s&fums safldld Qo & Supu 26.  Which metal can be cut easily with a
» Geawmentn? knife?

A) Gamgiuih B) Qasirafl A) Sadium B} Silver

C) [@hmiLy D) st C) Ferrous D) Gold

27 Derumrerngst @ AsmEiy 27.  Which of the following is nat a
@‘“.L.ﬁm"“f’? _ synthetic fibre?

£ G B) empemsir A)Rayon B Nylon

C) o) D)o e fnene C)lute D)None of the above

f& %{E‘T éu;ﬁ]gj ﬂ@m@u@gmlﬁﬁmm- 28, A ballis dropped from the specified
o UrSE RS DRTE Il.l.f[@j height o the ground. Another ball from the
AL L s aiuiuGens sefk Tl same height is throw horizontally \Which
Bl G symLih? one is reach first in ground?

A) & CErdd) el iuGais

B) ol o’y s sStuGing) A) The one that |s dropped

B) The one that is fired

C) Geinis @éreousds sy C)  They will both hit the ground at the
AL . same time
D) Gueafiul srgnliisens D)  None of the above

29. Ssweumh musmrL GHEN sradmeat 29
Gurmigs Glaulu Fesso wmmiLm '
Qerfasiu Gerarg. s Grgdln

Variation of Temperature with time
is given in the following graph. From the

2 ke Gy Bsoaeny Cumiding. graph, highest temperature at
A) 1pm B)3pm C)3am D)2pm (time). -
Aylpm  B)3pm C)3am D)2pm

S [
?f{’f_ :_S 11—

s e e e

= Q20N EPFPRNE

Taneersinin'(

Lhbls
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30, femaum Sk P, Q, R, S [@sr 30. The values of P, Q, R, S in the
el pmair  (Lpemm L. following diagram are

ﬂ""l\'
f % A)7.8,12,20 B) 20,12, 8,7 A7, 8,12, 20 B) 20, 12.8,7
C)7,12,20,8 D) 7,12, 8, 20 C)7,12,20,8 D) 7,12, 8,20
L TNST e e

3. e Gsmelh ymdn usSTEms 31 409% of people reading the English

LigOuaiiess 40% (Gar. ,ﬁlLﬂ{;P g news paper in a street. 50% of people
Ligbifleans:  LipliLiae:m iﬂ Yo G, reading the Tamil news paper and 10% of
Glreim(phs Lglueuiser 10% G, people reading the both news paper in the
@'FWWHHM Ly ST SRITSGE  67SSH0M a0 same street The percentage of
sgalldsn Gur? peaple nothing to read is...
A) 20% B) 10% C) 5% D) 0% A)20% B)10% C)5% D) 0%
32. 806y sdtar LSSl gmabom 32.The wavelength shown in the diagram Is
A) 2m B) 4m C}8m  D)12m A)2m B)4m C)8Bm D)12m
L 8 maters J L 8 meters J

v | & |
S3600H b An_LD LGN, 33. The diagram shows a circuit. Which
ElEshis ais Giie gybne : A '
s (@ adng? symbol represents the power source of the

circuit?

) D)
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34. smmflswfudlsy “OS" sruger aiiflsuréan
A) syt sy el

B) guer ami Gaxt

C) mibmiern Sl

D) mylnpsmed sobasm

35, GearGar e’ srsimLIE)
A) Qam i susime U HiET
B) GlameSlamiit wpemiauf
C) surgnnie tpsmipsur

D) Guskg Gk

36. u_Gdla) sidEsmen (p&GETaRTRISET
o grarear?

A}25 B)27 C€)29 D)30

370t suypth LSSl srdsaman sguhiger
o ETRTET 7
Ay20 B)17 C)18 D)22

38, anflmetubiages - obGrmailur aymsmes

A) AN@r@gssamrmar, Quimémd Sdhuimer,
2| BEIGAUITRAT, L& 6T

B) aybidiGmuwiiemsr, Gurided Sdwiess,
UIGIT 5 RS ST RAT, | SHSEmT ST

C) L&amdamyinar, QL &SR,
UiGlEnmsmmisar, oy mblGauwrsen

D) GummEsadfuiesar, | FassETTisar,
S el G e, ST @ T e

'34 .0S' computer abbreviation usually
means?

A) Order of Significance

B) Open Software

C) Operating System

D) Optical Scanner

35. Loco PILOT means ....
A) Train Driver

B) Helicopter Driver

C) Aero plan Driver

D) Bus Driver

36. How many triangles are there in the
image?

A)25 B)27 C)29 D)30

37. How many squares are there in the
image?
A)20 B)17 C)18 D)22

38. Write in order. The arrival of Europeans

A) French, Portugese, English, Dutch
B) English, Portugese, Franch, Dutch
B) Dutch, Portugese, French, English
D) Portugese, Dutch, English, French
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39, A geruest gn Casmesow 120

Bl Gl Gaidinm. m6s Camaamu D
sravrumni 2 wenfll Grydhdies Cebidimm
el GETSSET  gjipliusn. ufle wirm
dimmurarar 7

A) A B) D

C) Bmamn D) alilammaITe (gl

40, surasrafugysears:  Errus ufls Gubhp
allignEnman]

A) gyl

B) wniflebermbl oysmarsmtmggieny

C) endirGeait

D) modes sginGuns

41. mmo mybuosmenr Glesrmosy (Backery)

Ly sflsworer Ghd amssaman

sraTeumD.  @lemey  lsagh

Gliostremiowimaene. @kaheE S

A) Comdlar [Elusn| sermin

B) Goadls (plame Goésiubingnd

C) usluBiEgRSTD

D) merorl erairm Gl o ulif)
GersalUbfsTs

42 e ULpdhens D S|emme  aumpeiD
o LGwireldSimmbmmn.  jsinimm)
LATUEISSIIED auragliupEld o s
spatlogdlsm o e sremny  @afhuor?
A) P (umsnougens) B) C (smiusir)

C) K(Gumior#uun) D) Ca (srsvdluid)

43, srgpfiFsmed  enppistt Gamgud sm
smiuGan’. Gardgn Gurg ClauefiGuimin
BUMY

A) 2 dedleein

B) amusr mi gk

C) enpiimansic

D) ammuar Gorkerr oy s

A4 yefCmnNsmkg aflwmemissfls
o \nEemAT  SErail LwsTUEhn smail..

A) gppbur Bled  B) subfilow

C) sl i D) eyafiComblL i
45. o’ iflar 'D'ar Gaudufs

ATRTN S

A} (EhurreFar B) emuifliéedlsr
C) amodldEupra D) arEasmsupmm

39. A completes a work in 120 minutes. if D
does the same job, in two hours, who is
more efficiant in terms of time ?

AJA B)D

C) Both D) One who finishes
early

40. The Scientist who won Noble Prize for
Astronomy ......

A) Aryabatta

B) Mayilsamy Annadurai
C) Chandrasekhar
D) Jagdish Chandra Bose

41, If we go to bakery we can see cakes.
The reason for the softness of the cake is
due to....

A) That is cake's nature

B) Due to adding of egg in the cake
C) Due to pasteurization

D) Yeast is added to cake

42. We have used Banana in daily life,
Used do so, what element is presentin the
Bapana?

A) P (Phosphorus)
C) K [ Potassium

B) C ( Carbon )
D) Ca (Calcium)

43. The gas evolved, when Sodium bi
carbonale is added with lime juice is.....
A) Oxyaen

B) Carbondioxide

C) Nitrogen

D) Carbonmonooxide

44, The instrument in the Aeroplane to
measure its height fromm the earthis.......
A) Audiometer B) Ammeter

C) Altimeter D} Anemometer

45, Chemical name of Vitamin D

A) Niacin
C) Calciferal

B) Pyritoxin
D) Ergostrol
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48, 2 e gpralld  sEmeramTaD snmid
GlEmarsmiu’ L SiEHpanmn

A) CGE (pem B) FPS (wenm
C) Sl (pemp DYHKS gpsmm

47, gmosny weoi [GBifld fsmés
o s6dng?

A) EImm (e G E e

B) @aa gimarsan

C) amm Elm Gleauafled

D) A inimpd C

48, Glummsis

A) Glaul Hlemes 1. &lEem Hlymb
B) safléGlaminy 2. syt
C) hsiGanmi tb 3. Casmm_sur
D) [flsmm 4. Gleaailar
Ay 3 4 1 2

B)1 2 4 3

c)4 3 2 1

D)2 1 4 3

49, gaimmen  [Blsnemrsniig  Senr s

1} dsmb - aGamT

2) dkms Gausid - Glesdkmr

3) famm - Qs

4) =2 Gmo = (lmdsL
A1 B 2 ©3 D 4

50. gssermpyfley  sefhossssorred  Glaibin

Upsmio aimih® Lmmnbufiu Gumbsnussais

e Guarsirm  Glesmomédfuram

Ewgssdne smemann?

A) ammlar Gt

B) Glumbsmioullss Fill) soloilipn e
Ghorgs e uph Gumbsmudia  &ypmer
Sl @uiln  ojeniumu
Gl Glaugemms

C) ilsirmeod Ll Enm s

D) ysfl ity usutd

51.ur&Gsl Benfld  apn. b
maudsa LI (Bleer  umsd [Baim_  (GEMD

Qe HOGursudissmen ey ?

A) umellar @l s Seiamio

B) wafialiiusarms

C) usluBisamisn

D) Gaudlh Gumml s UwsTLibIESsnsTe

46.The Unit System accepted by all over
the world is

A) CGS system
C}) 5l system

B) FPS system
D0y HKS system

47. What helps to the Lotus flower to float
on the water?

A) Alr microholes

B) Leaf holes

C) Air intervals

D) Both 'A' and 'C'

48. Match the following.

A) Tempearature 1kg

B) Luminus 2. Amphere
C) Current 3. Candela
D} Mass 4, Kelwin
A)3412

B)1243

C)4321

D)2143

49. Find the wrong couples

1) Length - Scalar
2) Velocity - Vector
3) Mass - Vactor
4) Momentum - Vector
A1 B)2 €3 D)4

50. What is the reason for the continuous
movemeant of the famous Thanjavur doll?

A) Speed of the alr

B ) The centre of the gravity and the total
weight of the doll lies at the bottom

C) Since battery is used

D) Gravitational field.

51. Why the milk in the packet is in good
condition for a long time ?

A) Nature of the milk

B) Due to cooling

C) Pasteurization

D} Since chemicals are used
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2.00 GlL sme for

@afirimam Wi puild  anasdssiELn

Gungs o mmkg veflds g dings
a_smpiflsweouilsy  aymeir LymLeH ?

A) Zyfleid@in B) @muwn

C) e wmipipd apLLRg

D) Gumne i sanpilsame

53, aflamrClaiafl afpfadr aflsnGausflses
Glasgun Gurgl Amly 2 s smmar
aysofldlmmiser esr ?

A) 2igls Syybmn smemoTs @G5S
@Wmi GsupSHIEI

B) asmmmin, Gsusfl supssipd Blsme

C) aanlen o smenm 2 wdssme ) Glalw

D) spmearggin #fl

54. Gl graupaiivs zynmiéS Emsusnn
ST SyemLhETeres) 7

A) Glasorenesr B) GemnuibySeamt

C) Glamsisssm D) aéEGeamm

55. slinkrs (penpuiled 2. smra|
uslLESSEeln LT LEISSIL_TS
adli 7

A) @-mEir B) amor s&i

C) mysodiuiy adlr D) up sears b

56, Cum G m grinSleon  ssmmmed sratTaEm 7

A) arammsstisr Gaudl GDummer Grrddu
GG st

B) gmurmamatsn gafl Grradhu Ghusean

C) sraugtumafisn wsm GCrrdd Ewss

C) smurmisEmier el aflanmr

57, sufley weipuflsd esven Geugdll  Glmger
A) amm Gme

B) o

C) amiusir (GomenmSemea(d

D) ey fié spfm

58. grdlear GomrTHwg seumTmT

A) Crgrmaflsd suniud Gitarg

B) wey @b Eifsilsgeismsms

C) umieny Gamfiss grdlaw Combmelisssi

D) wmtlgresir grwmem ungariyders  d
@ (dbmenires  auniphasnt,  o)@Gor e
sprdhune i)

10

52. When a particular amount of water is
kept in a refrigerator it becomes solid ice.
What is the change in the volume of water
in this solid state?

A) Increase
C) No change

B) Decrease
D) None of abave

53, The astronauts wear special dress while
gaing to space. Why?

A) Due to excess pressure their blood
vessels will burst

B) No air and outer pressure

C) To equalize the inner pressure

D) All are correct

54. Where is National Botanical Research
Institute 7
A) Chennai
C) Kolkatta

B) Coimbatore
D) Lucknow

55. Which one of the ray is not used in the
pasteurization of the food

A) O ray B) Gama ray

C) Infra-red rays D) Ultraviolet rays

56. What do you mean by Phototropism?
A) The movement of the plants towards the
chemicals

B) The movement of the plants towards the
sun light

C) The movement of the plants towards the
sail

D) The interaction of the plant with light.

57. The chemical present in the Acid Rain
is...

A) Nitrate

C) Carbon monoxide
D)} Sulphuric acid

B) Ozone

58. How castes are formed?

A) As stated in the Vedas

B} Manu Dharmam defined caste system
C) Ancestral profession formed the castes
D) In olden days people lived a2 a small
aroups for their safety, That became tha
caste later.
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59, @ihEumallsy o@Es amany  Eijsaeomin
RURLD (BTG, .

A) 22 pamnr 2019 B) 3lgewnwni 2019
C) 26p&bui 2019 D) 2 sarufl 2020

60, mifly Srsssnih HTaar o sl

A) gyl

B) mfs Gepeirerues.
C) epstmsrusmi. s

D) esblsbiGim

61.GTT Gsul sapsrs

GealiupSmes?

A) ybm Gemi e

B) stapiin| Glam murar Grmissmer
manrL il

C) #idsmy e Lsm i
|G erm g amenT

D) Sgifres URGersemant

62. ynfleud smpen Heoailar ampe
HIAND  FTEIRIETR] T
A) 28.3 mmiast
C) 28 i man

B) 27.3 mmiar
D) 29 mm s

63 weflgefler L, Gemmub, g,
wélped Gumsinm = amr &&lmsnan
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59. The next annular solar eclipse in India

A) 22nd Nov 2019
C) 26th Dec 2019

B) 31st Dec 2019
D) 2nd Jan 2020

g0. Solar eclipse was responsible for the
discovery of Helium discovered by...

A) Aryabhatta

B) Jules Janssen

C) Albert Eisenstein

D) Galileo

61. Why the GTT test being done?

A) To diagnose Cancer

B) To diagnose Bone related Disease
C) Sugar related testing

D) Kidney test

62. Orbital Period of the moon around the
earth?

A) 28.3 Days Bl
C) 28 Days 0y

27.3 Days
29 Days

63. Which Hormone that can protect and
control emotions like happiness, fear, anger
sadness

A) Thyroid B) Cortisol

C) Adrenaline. D) Oxytocin

G64. A condition of abnormally high storage
level of vitamins

A) Hypovitaminosis
B) Hypervitaminosis
C) Night Blindness
D) Beriberi

65. What resulls caused when sulphur
dioxide concentration is high in the
admosphere?

A) Global Warming

B) Damage to the ozane layer

C) Acid rain

0) None
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gumsmraersTamen  Glamem (e ?

A) eflwirpssr B} Ghniugyysn
C) wyhl D) eafl
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66. Yawn, Burp, Hiccup these are coming,
all of these reflect the physiology that
informs us, our physical activity is taking
place well done.

Sort the reasons below

1. Respiratory problems that ocour when

the diaphragm is unable to shrink and
expand.

2.The process of announcing when we are
tired and the brain is tired.

3. Even if we have too much protein in our
diet, despite the sour ingredients, discharge
of the gas thal occurs during decomposition.

A) 1. Yawn 2. Hiceup 3. Burp
B) 1. Hiccup 2. Yawn 3. Burp
C) 1. Burp 2. Hiccup 3. Yawn
D}y 1.¥Yawn 2, Burp 3. Hiccup.

@7. Astrology says that the Planetary
moment in space will affect the living things
on the earth.This is

A) Mot Astronomy

B) Not True

C) Pseudoscience

D) All the Above

8. Which of the planeis has the most
number of satellites or moons?

(A) Jupiter (B) Neptune

© Earth {D) Satum

69. The chemical name of Vitamin-E is...

(A) Retinal
(C) Ascorbic acid

(B} Riboflavin
(D) Tocopherol

70. What is meant by 'Climate
Change'?

A) Global Warming

B) Change of Seasons

C) A change in long term weather
pattern

D) Increase in sea lavel
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71.  The most abundant element in
Universe is..
A) Hydrogen
C) Oxygen

B) Carbon
D) Helium

T2, Bacteriophage virus requires
for growth.

A) Bacleria

{C) Animal

B) Plants
{D) Living Cells

73. Who is called the 'Father of
Immunology'?
A) Louis Pasteur
C) Robert Koch

B) Edward Jenner
D) James Phipps

74.  Why the flowers are not black in
colour?

A) People don't like that colour

B) Bees and other insects don't like black
colour

C) Black colour absorb more heat from sun
light and the plant will wither

D} Black is not at all a colour

75. Who was the famous tamil poet said
‘Astrology should be cursed'

A) Bharathiar

8) Auvaiyar

C) Ramalinga Adigalar

D) Namakkal Kavingar

76. Why snakes in general move in zigzag
instead of moving in a straight line?

A) It has no legs

B) It has no spinal chord

C) It's muscle shrinks and enlarges

D) None of these

77. Why does milk tum sour?
A) Because of Virus

B) Microhial activity

C) Because of Bacteria

0) Due lo heal
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78. Which bird lays its eggs in some other
bird's nast?
A) Crow
C) Eagle

B) Cuckoo
D) Sparrow

79, A train travelled half of the distance at a
speed of 30 kmph and the rest of the
distance al a speed of 60 kmph. If the total
distance travelled is 60 km, what is the time
taken for the travel?

A) 1 Hour 45 min

B) 1 Hour 20 min

C) 1 Hour 15 min

DY 1 Hour 30 min

80. A bag contains 99 pencils, Muthu,
Krishnan and Raju shared them at the ratio
of 7:15:11. How many pencils did Krishnan
get?
A) 21 B) 33 C) 45 D) 30
81. Which gas protect us from Ultra Violet

Rays coming from the space?

A) Nitrogen

B) Carbondioxide
C) Ozone

D) Oxygen

82 .What will be the weight of an object at
the centre of the earth’?

A) More
B) Less
C) Zero
D) MNone of the above

83. What Is the time difference between
GMT and IST?
A) 3% hours
C) 1% hours

B) 4 ¥ hours
D) 5 % hours

84, What is the principle behind RADAR 7
A) Refraction

B) Doppler's Effect

C) Thomson Effect

D) Reflection
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85. Which gas is used to put off the fire?
A) Carbondioxide

B) Nitrogenoxide

C) Oxygen

D)y Hydrogen

86. Which element is the name of a

planet?

A Germaniyam  B) Plutonium

) Franciyam o) Palaniyam

87.The Lizard makes noise lo show that.....
A) Itis a badtime

B) ltis a good time

C) On seeing hisfood (insect)

D) Mone of the above

88. Why do we use lime to purify water?

A) Itkills the bacteria

B) Itpurifies the water

C) ltprevents the pipe fram rust
D) Noneofthe above)

89. This years Noble Prize for chemistry
was awarded to the invention of.....

Al Abtomic energy

B) Lithium battery

C) Caner medicine

D) New Elements

90. What are the important chemical used
in making the crackers?

A) Sulpherdioxide B) Cadmium

C) Led D) All the three

91. After polishing the shoes are glittering.

Why?

A} The chemicals present in the polish

B) Polish reacts with sunlight

C) Since the surface of the polised shoe |
smooth

D) Sun light reflects on the surface

92, How much Meise Pollution is Caused By
Crackers ?

A} 110 Decibels
C) 140 Decibels

B)130 Decibels
D)125 DecibelS
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53. What |s TNT?
A) Pesticide
B) Herbiclde
C) Meadicine
D) Explosive

94, The Blackholes are found at ...
A) Space

B) Centre of the Galaxy

C) Centre of the Star

D) All of these three

85. Why do moles form on the human
bady?

A) Concentration of melanin pigments
B) Concentration of living cells

C) Concentration Dead cells

D) Lucky fellows

96. Raman's salary is reduced by 50%
and then increased by 50% what is the
difference between new and old salary?
A) No difference B) Decreased 25%
C) Increased 25% D) Increased 50%

87. What is "Scheduled-H' drug?
A)Should be given only at the
prescription of a doctor
B) Emergency medicine
C) Non prescribed medicine
D) Poisonous medicine

898. What is the weight of Oxygen in one
litre of water?

A) 8 gm B)
C) 889 gm

848 gm
D) 16 gm

100, GasrafidbEsmar G gl
auTGeaisieTigl  eTemm ...
100. Find the number

1 1
5 2 5 2
Aj2 By C)7 D)9



